



Complex Valued Rectangular B-Metric Spaces and Fixed Point Theorems

Cholatis Suanoom¹, Mutita Chadajan¹ and Patchara Muangkarn¹

¹ Program of Mathematics, Faculty of Science and Technology, Kamphaengphet Rajabhat University,
Kamphaengphet, Thailand,

Email: cholatis.suanoom@gmail.com (Cholatis Suanoom)

Email: mutita02006@gmail.com (Mutita Chadajan)

Email: putchara_31@windowslive.com (Patchara Muangkarn)

Abstract

In this paper, we study the existence of fixed point for self mappings under generalized kannan mappings type concept in rectangular b-metric spaces. Our result extend and generalize the result derived by Ege [21] and many others.

Keywords: complex valued rectangular b-metric spaces / fixed point theorems
/ kannan mappings.

1. Introduction

The Banach fixed point theorem still seems to be the most important result in metric fixed point theory. Fixed point theorems are very useful in the existence theory of differential equations, integral equations, functional equations and other related areas. Metric fixed point theory the first important and significant result was proved by Banach in 1922 for contraction mapping in complete metric space was introduced by Frechet [1]. In 2000, Branciari [2] introduced a notion of rectangular metric space and proved an analogue of the Banach contraction principle in this space, then various fixed point theorems were given for different contractions on rectangular metric spaces (see [3] – [11]). In 2011, Azam and et al. [12] introduced the complex valued b-metric spaces and proved common fixed point results for mappings.

On the other hand, in 1989, Bakhtin [13] introduced b-metric spaces as a generalization of metric spaces. He proved the contraction mapping principle in b-metric spaces that generalized the famous Banach contraction principle in metric spaces. Since then, several papers have dealt with fixed point theory or the variational principle for single-valued and multi-valued operators in b-metric spaces ([14] – [20] and the references therein). In 2015, Ege [21] introduced complex valued rectangular b-metric spaces and proved an analogue of Banach contraction principle. Moreover, author also prove a different contraction principle with a new condition and a fixed point theorem in this space.



Research objectives

1. We will study the existence of fixed point for self mappings under generalized kannan mappings type concept in complex valued rectangular b-metric spaces.
2. We will give examples as a satisfying the theorems in complex valued rectangular b-metric spaces.

2. Preliminaries

In this section, we review the basic knowledge to prove our main results.

Definition 2.1. [4] Let X be a nonempty set and $d: X \times X \rightarrow [0, \infty)$ be a satisfies:

(bM1) $d(x, y) = 0$ if and only if $x = y$ for all $x, y \in X$;

(bM2) $d(x, y) = d(y, x)$ for all $x, y \in X$;

(bM3) there exists a real number $s \geq 1$ such that $d(x, y) \leq s[d(x, z) + d(z, y)]$ for all $x, y, z \in X$. Then d is a b -metric on X and (X, d) is called a b -metric space (in short bMS) with coefficient s .

Definition 2.2. [5] Let X be a nonempty set and the mapping $d: X \times X \rightarrow [0, \infty)$ satisfies:

(RM1) $d(x, y) = 0$ if and only if $x = y$ for all $x, y \in X$;

(RM2) $d(x, y) = d(y, x)$ for all $x, y \in X$;

(RM3) $d(x, y) \leq d(x, u) + d(u, v) + d(v, y)$ for all $x, y \in X$ and all distinct points $u, v \in X \setminus \{x, y\}$. Then d is called a rectangular metric on X and (X, d) is called a rectangular metric space (in short RMS).

Definition 2.3. [22] Let X be a nonempty set and the mapping $d: X \times X \rightarrow [0, \infty)$ satisfies:

(RbM1) $d(x, y) = 0$ if and only if $x = y$ for all $x, y \in X$;

(RbM2) $d(x, y) = d(y, x)$ for all $x, y \in X$;

(RbM3) there exists a real number $s \geq 1$ such that

$d(x, y) \leq s[d(x, u) + d(u, v) + d(v, y)]$ for all $x, y \in X$ and all distinct points $u, v \in X \setminus \{x, y\}$.

Then d is called a rectangular b -metric on X and (X, d) is called a rectangular b -metric space (in short RbMS) with coefficient s .

Note that every metric space is a rectangular metric space and every rectangular metric space is a rectangular b-metric space (with coefficient $s = 1$). However the converse of the above implication is not necessarily true.



Example 2.4. [22] Let $X = \square$, define $d : X \times X \rightarrow X$ by

$$d(x, y) = \begin{cases} 0, & \text{if } x = y; \\ 4\alpha, & \text{if } x, y \in \{1, 2\} \text{ and } x \neq y; \\ \alpha, & \text{if } x \text{ or } y \notin \{1, 2\} \text{ and } x \neq y, \end{cases}$$

Where $\alpha > 0$ is a constant. Then (X, d) is a rectangular b-metric space with coefficient

$s = \frac{4}{3} > 1$, but (X, d) is not a rectangular metric space, as

$$d(1, 2) = 4\alpha > 3\alpha = d(1, 3) + d(3, 4) + d(4, 2).$$

Example 2.5. [22] Let $X = \square$, define $d : X \times X \rightarrow X$ such that $d(x, y) = d(y, x)$

for all $x, y \in X$ and

$$d(x, y) = \begin{cases} 0, & \text{if } x = y; \\ 10\alpha, & \text{if } x = 1, y = 2; \\ \alpha, & \text{if } x \in \{1, 2\} \text{ and } y \in \{3\}; \\ 2\alpha, & \text{if } x \in \{1, 2, 3\} \text{ and } y \in \{4\}; \\ 3\alpha, & \text{if } x \text{ or } y \notin \{1, 2, 3, 4\} \text{ and } x \neq y, \end{cases}$$

Where $\alpha > 0$ is a constant. Then (X, d) is a rectangular b-metric space with coefficient

$s = 2 > 1$, but (X, d) is not a rectangular metric space, as

$$d(1, 2) = 10\alpha > 5\alpha = d(1, 3) + d(3, 4) + d(4, 2).$$

The complex metric space was initiated by Azam et al. [5]. Let \square be the set of complex numbers and $z_1, z_2 \in \square$. Define a partial order \leq on \square as follows:

$$z_1 \leq z_2 \text{ if and only if } \operatorname{Re}(z_1) \leq \operatorname{Re}(z_2) \text{ and } \operatorname{Im}(z_1) \leq \operatorname{Im}(z_2).$$

It follows that $z_1 \leq z_2$ if one of the following conditions is satisfied:

$$(C_1) \operatorname{Re}(z_1) = \operatorname{Re}(z_2) \text{ and } \operatorname{Im}(z_1) = \operatorname{Im}(z_2),$$

$$(C_2) \operatorname{Re}(z_1) < \operatorname{Re}(z_2) \text{ and } \operatorname{Im}(z_1) = \operatorname{Im}(z_2),$$

$$(C_3) \operatorname{Re}(z_1) = \operatorname{Re}(z_2) \text{ and } \operatorname{Im}(z_1) < \operatorname{Im}(z_2),$$

$$(C_4) \operatorname{Re}(z_1) < \operatorname{Re}(z_2) \text{ and } \operatorname{Im}(z_1) < \operatorname{Im}(z_2).$$

Particularly, we write $z_1 \checkmark z_2$ if $z_1 \neq z_2$ and one of $(C_2), (C_3)$ and (C_4) is satisfied and we

write $z_1 < z_2$ if only (C_4) is satisfied. The following statements hold:

(1) If $a, b \in \square$ with $a < b$, then $az < bz$ for all $z \in \square$.

(2) If $0 \leq z_1 \checkmark z_2$, then $|z_1| < |z_2|$.

(3) If $z_1 \leq z_2$ and $z_2 < z_3$, then $z_1 < z_3$.

Definition 2.6.[21] Let X be a nonempty set. Suppose that a mapping $d : X \times X \rightarrow \square$ satisfies:

(CRb1) $d(x, y) = 0$ if and only if $x = y$ for all $x, y \in X$;

(CRb2) $d(x, y) = d(y, x)$ for all $x, y \in X$;



(CRb3) there exists a real number $s \geq 1$ such that

$$d(x, y) \leq s[d(x, u) + d(u, v) + d(v, y)] \text{ for all } x, y \in X \text{ and all distinct points } u, v \in X \setminus \{x, y\}.$$

Then d is called a complex valued rectangular b -metric on X and (X, d) is called a complex valued rectangular b -metric space.

Example 2.7. [21] Let $X = A \cup B$, where $A = \{\frac{1}{n} : n \in \mathbb{N}\}$ and $B = \mathbb{N}^+$ and

$d : X \times X \rightarrow \mathbb{C}$ be defined as follows: $d(x, y) = d(y, x)$ for all $x, y \in X$ and

$$d(x, y) = \begin{cases} 0, & \text{if } x = y; \\ 2t, & \text{if } x, y \in A; \\ \frac{t}{2n}, & \text{if } x \in A \text{ and } y \in \{2, 3\}; \\ t, & \text{otherwise,} \end{cases}$$

where $t > 0$ is a constant. Then (X, d) is a rectangular b -metric space with coefficient $s = 2 > 1$.

Definition 2.8. [21] Let (X, d) be a complex valued rectangular b -metric space, $\{x_n\}$ be a sequence in X and $x \in X$.

(a) The sequence $\{x_n\}$ is said to be complex valued convergent in (X, d) and converges to x if for every $\varepsilon > 0$ there exists $n_0 \in \mathbb{N}$ such that $d(x_n, x) < \varepsilon$ for all $n > n_0$ and is denoted by $x_n \rightarrow x$ as $n \rightarrow \infty$.

(b) The sequence $\{x_n\}$ is called complex valued Cauchy sequence in (X, d) if $\lim_{n \rightarrow \infty} d(x_n, x_{n+p}) = 0$ for all $p > 0$.

(c) (X, d) is said to be a complex valued complete rectangular b -metric space if every complex valued Cauchy sequence in X converges to some $x \in X$.

Since the following two lemmas are the analogues of the lemmas in [5], we state these for complex valued rectangular b -metric spaces without their proofs.

Lemma 2.9. [21] Let (X, d) be a complex valued rectangular b -metric space and let $\{x_n\}$ be a sequence in X . Then $\{x_n\}$ converges to x if and only if $|d(x_n, x)| \rightarrow 0$ as $n \rightarrow \infty$.

Lemma 2.10. [21] Let (X, d) be a complex valued rectangular b -metric space and let $\{x_n\}$ be a sequence in X . Then $\{x_n\}$ is a Cauchy sequence if and only if $|d(x_n, x_{n+m})| \rightarrow 0$ as $n \rightarrow \infty$.

Theorem 1. [21] Let (X, d) be a complex valued complete rectangular b -metric space with coefficient $s > 1$ and $T : X \rightarrow X$ be a mapping satisfying:

$$d(Tx, Ty) \leq \alpha d(x, y)$$



for all $x, y \in X$, where $\alpha \in \left[0, \frac{1}{s}\right]$. Then T has a unique fixed point.

3. Results

Now we prove our main results.

Theorem 2. Let (X, d) be a complete complex valued rectangular b -metric space with coefficient $s > 1$ and $T : X \rightarrow X$ be a mapping satisfying:

$$d(Tx, Ty) \leq \lambda [d(x, Tx) + d(y, Ty)] \quad (3.1)$$

for all $x, y \in X$, where $\lambda \in \left[0, \frac{2}{s+1}\right]$. Then T has a unique fixed point.

Proof Let $z_0 \in X$ and each $n \in \mathbb{N}$, we define $z_n = Tz_{n-1}$; for all $n \in \mathbb{N}$.

We consider,

$$\begin{aligned} d(z_1, z_2) &= d(Tz_0, Tz_1) \\ &\leq \lambda [d(z_0, Tz_0) + d(z_1, Tz_1)] \\ &\leq \lambda [d(z_0, z_1) + d(z_1, z_2)], \end{aligned} \quad (3.2)$$

$$\Rightarrow d(z_1, z_2) \leq \lambda d(z_0, z_1) + \lambda d(z_1, z_2)$$

$$\Rightarrow d(z_1, z_2) - \lambda d(z_1, z_2) \leq \lambda d(z_0, z_1)$$

$$\Rightarrow (1 - \lambda) d(z_1, z_2) \leq \lambda d(z_0, z_1)$$

$$\Rightarrow d(z_1, z_2) \leq \frac{\lambda d(z_0, z_1)}{(1 - \lambda)},$$

$$d(z_1, z_2) \leq \left(\frac{\lambda}{1 - \lambda}\right) e_0; \text{ where } e_0 = d(z_0, z_1). \quad (3.3)$$

Thus, $d(z_1, z_2) \leq \left(\frac{\lambda}{1 - \lambda}\right) e_0$, for some $\lambda \in \left[0, \frac{2}{s+1}\right]$, where $e_0 = d(z_0, z_1)$.

$$\begin{aligned} d(z_2, z_3) &= d(Tz_1, Tz_2) \\ &\leq \lambda [d(z_1, Tz_1) + d(z_2, Tz_2)] \\ &\leq \lambda [d(z_1, z_2) + d(z_1, z_3)], \end{aligned} \quad (3.4)$$

$$\Rightarrow d(z_2, z_3) \leq \lambda d(z_1, z_2) + \lambda d(z_2, z_3)$$

$$\Rightarrow d(z_2, z_3) - \lambda d(z_2, z_3) \leq \lambda d(z_1, z_2)$$

$$\Rightarrow (1 - \lambda) d(z_2, z_3) \leq \lambda d(z_1, z_2)$$

$$\Rightarrow d(z_2, z_3) \leq \frac{\lambda d(z_1, z_2)}{(1 - \lambda)},$$

$$d(z_2, z_3) \leq \left(\frac{\lambda}{1 - \lambda}\right) e_1; \text{ where } e_1 = d(z_1, z_2). \quad (3.5)$$



Thus, $d(z_2, z_3) \leq \left(\frac{\lambda}{1-\lambda}\right) e_1$, for some $\lambda \in \left[0, \frac{2}{s+1}\right]$, where $e_1 = d(z_1, z_2)$.

Using (3.3) and (3.5) we have

$$\begin{aligned} d(z_2, z_3) &\leq \left(\frac{\lambda}{1-\lambda}\right) d(z_1, z_2), \\ &\leq \left(\frac{\lambda}{1-\lambda}\right) \left[\left(\frac{\lambda}{1-\lambda}\right) d(z_0, z_1)\right] \\ d(z_2, z_3) &= \left(\frac{\lambda}{1-\lambda}\right)^2 e_0, \text{ for some } \lambda \in \left[0, \frac{2}{s+1}\right]; \text{ where } e_0 = d(z_0, z_1). \end{aligned} \quad (3.6)$$

In general, we obtain that

$$d(z_n, z_{n+1}) \leq \left(\frac{\lambda}{1-\lambda}\right)^n e_0, \text{ for some } \lambda \in \left[0, \frac{2}{s+1}\right], \text{ where } e_0 = d(z_0, z_1). \quad (3.7)$$

Let $e_n = d(z_n, z_{n+1})$, $\forall n \in \mathbb{N}$

$$\begin{aligned} d(z_n, z_{n+2}) &= d(Tz_{n-1}, Tz_{n+1}) \\ &\leq \lambda [d(z_{n-1}, Tz_{n-1}) + d(z_{n+1}, Tz_{n+1})] \\ &\leq \lambda [d(z_{n-1}, z_n) + d(z_{n+1}, z_{n+2})] \\ &= \lambda d(z_{n-1}, z_n) + \lambda d(z_{n+1}, z_{n+2}) \\ &\leq \lambda \left(\frac{\lambda}{1-\lambda}\right)^{n-1} e_0 + \lambda \left(\frac{\lambda}{1-\lambda}\right)^{n+1} e_0, \\ &\leq \left(\frac{\lambda}{1-\lambda}\right)^{n-1} \left[\lambda e_0 + \lambda \left(\frac{\lambda}{1-\lambda}\right)^2 e_0 \right], \\ d(z_n, z_{n+2}) &\leq \left(\frac{\lambda}{1-\lambda}\right)^{n-1} e_0^* \text{ where } e_0^* = \left[\lambda e_0 + \lambda \left(\frac{\lambda}{1-\lambda}\right)^2 e_0 \right] \text{ for some } \lambda \in \left[0, \frac{2}{s+1}\right] \end{aligned} \quad (3.8)$$

$$\begin{aligned} d(z_n, z_{n+2m+1}) &\leq s [d(z_n, z_{n+1}) + d(z_{n+1}, z_{n+2}) + d(z_{n+2}, z_{n+2m+1})] \\ &\leq s [d(z_n, z_{n+1}) + d(z_{n+1}, z_{n+2}) \\ &\quad + s [d(z_{n+2}, z_{n+3}) + d(z_{n+3}, z_{n+4}) + d(z_{n+4}, z_{n+2m+1})]] \\ &\leq s [(e_n + e_{n+1}) + s [(e_{n+2} + e_{n+3}) + s [(e_{n+4} + e_{n+5}) + \dots \\ &\quad + s [(e_{n+2m-2} + e_{n+2m-1} + e_{n+2m})]] \\ &\leq s e_n + s e_{n+1} + s^2 e_{n+2} + s^2 e_{n+3} + s^3 e_{n+4} + s^3 e_{n+5} + \dots \\ &\quad + s^m e_{n+2m-2} + s^m e_{n+2m-1} + s^m e_{n+2m} \\ &\leq s \left[\left(\frac{\lambda}{1-\lambda}\right)^n e_0 + \left(\frac{\lambda}{1-\lambda}\right)^{n+1} e_0 \right] + s^2 \left[\left(\frac{\lambda}{1-\lambda}\right)^{n+2} e_0 + \left(\frac{\lambda}{1-\lambda}\right)^{n+3} e_0 \right] \\ &\quad + s^3 \left[\left(\frac{\lambda}{1-\lambda}\right)^{n+4} e_0 + \left(\frac{\lambda}{1-\lambda}\right)^{n+5} e_0 \right] + \dots \\ &\quad + s^m \left[\left(\frac{\lambda}{1-\lambda}\right)^{n+2m-2} e_0 + \left(\frac{\lambda}{1-\lambda}\right)^{n+2m-1} e_0 + \left(\frac{\lambda}{1-\lambda}\right)^{n+2m} e_0 \right] \end{aligned}$$



$$\begin{aligned}
 &\leq \left[s \left(\frac{\lambda}{1-\lambda} \right)^n e_0 + s^2 \left(\frac{\lambda}{1-\lambda} \right)^{n+2} e_0 + s^3 \left(\frac{\lambda}{1-\lambda} \right)^{n+4} e_0 + \dots + s^m \left(\frac{\lambda}{1-\lambda} \right)^{n+2m-2} e_0 + s^m \left(\frac{\lambda}{1-\lambda} \right)^{n+2m} e_0 \right] \\
 &\quad + \left[s \left(\frac{\lambda}{1-\lambda} \right)^{n+1} e_0 + s^2 \left(\frac{\lambda}{1-\lambda} \right)^{n+3} e_0 + s^3 \left(\frac{\lambda}{1-\lambda} \right)^{n+5} e_0 + \dots + s^m \left(\frac{\lambda}{1-\lambda} \right)^{n+2m-1} e_0 \right] \\
 &\leq s \left(\frac{\lambda}{1-\lambda} \right)^n e_0 \left[1 + s \left(\frac{\lambda}{1-\lambda} \right)^2 + s^2 \left(\frac{\lambda}{1-\lambda} \right)^4 + \dots + s^{m-1} \left(\frac{\lambda}{1-\lambda} \right)^{2m-2} + s^{m-1} \left(\frac{\lambda}{1-\lambda} \right)^{2m} \right] \\
 &\quad + s \left(\frac{\lambda}{1-\lambda} \right)^{n+1} e_0 \left[1 + s \left(\frac{\lambda}{1-\lambda} \right)^2 + s^2 \left(\frac{\lambda}{1-\lambda} \right)^4 + \dots + s^{m-1} \left(\frac{\lambda}{1-\lambda} \right)^{2m-2} \right] \\
 &\leq s \left(\frac{\lambda}{1-\lambda} \right)^n e_0 \left[1 + s \left(\frac{\lambda}{1-\lambda} \right)^2 + s^2 \left(\frac{\lambda}{1-\lambda} \right)^4 + \dots \right] + s \left(\frac{\lambda}{1-\lambda} \right)^{n+1} e_0 \left[1 + s \left(\frac{\lambda}{1-\lambda} \right)^2 + s^2 \left(\frac{\lambda}{1-\lambda} \right)^4 + \dots \right] \\
 &\leq \left[1 + s \left(\frac{\lambda}{1-\lambda} \right)^2 + s^2 \left(\frac{\lambda}{1-\lambda} \right)^4 + \dots \right] \left[s \left(\frac{\lambda}{1-\lambda} \right)^n e_0 + s \left(\frac{\lambda}{1-\lambda} \right)^{n+1} e_0 \right] \\
 &= \frac{1}{1 - s \left(\frac{\lambda}{1-\lambda} \right)^2} \left[s \left(\frac{\lambda}{1-\lambda} \right)^n e_0 + s \left(\frac{\lambda}{1-\lambda} \right)^{n+1} e_0 \right] \\
 &= \frac{s \left(\frac{\lambda}{1-\lambda} \right)^n e_0 \left(1 + \left(\frac{\lambda}{1-\lambda} \right) \right)}{1 - s \left(\frac{\lambda}{1-\lambda} \right)^2}, \\
 d(z_n, z_{n+2m+1}) &\leq \frac{s \left(\frac{\lambda}{1-\lambda} \right)^n e_0 \left(1 + \left(\frac{\lambda}{1-\lambda} \right) \right)}{1 - s \left(\frac{\lambda}{1-\lambda} \right)^2}. \tag{3.9}
 \end{aligned}$$

$$\begin{aligned}
 d(z_n, z_{n+2m}) &\leq s \left[d(z_n, z_{n+1}) + d(z_{n+1}, z_{n+2}) + d(z_{n+2}, z_{n+2m}) \right] \\
 &\leq s \left[d(z_n, z_{n+1}) + d(z_{n+1}, z_{n+2}) \right. \\
 &\quad \left. + s \left[d(z_{n+2}, z_{n+3}) + d(z_{n+3}, z_{n+4}) + d(z_{n+4}, z_{n+2m}) \right] \right] \\
 &\leq s \left[(e_n + e_{n+1}) + s \left[(e_{n+2} + e_{n+3}) + s \left[(e_{n+4} + e_{n+5}) + \dots \right. \right. \right. \\
 &\quad \left. \left. \left. + s^{m-1} \left[(e_{2m-4} + e_{2m-3}) + s^{m-1} d(z_{n+2m-2}, z_{n+2m}) \right] \right] \right] \right] \\
 &\leq s e_n + s e_{n+1} + s^2 e_{n+2} + s^2 e_{n+3} + s^3 e_{n+4} + s^3 e_{n+5} + \dots \\
 &\quad + s^{m-1} e_{2m-4} + s^{m-1} e_{2m-3} + s^{m-1} d(z_{n+2m-2}, z_{n+2m})
 \end{aligned}$$



$$\begin{aligned}
 d(z_n, z_{n+2m}) &\leq s \left[\left(\frac{\lambda}{1-\lambda} \right)^n e_0 + \left(\frac{\lambda}{1-\lambda} \right)^{n+1} e_0 \right] + s^2 \left[\left(\frac{\lambda}{1-\lambda} \right)^{n+2} e_0 + \left(\frac{\lambda}{1-\lambda} \right)^{n+3} e_0 \right] \\
 &\quad + s^3 \left[\left(\frac{\lambda}{1-\lambda} \right)^{n+4} e_0 + \left(\frac{\lambda}{1-\lambda} \right)^{n+5} e_0 \right] + \dots + s^{m-1} \left[\left(\frac{\lambda}{1-\lambda} \right)^{2m-4} e_0 + \left(\frac{\lambda}{1-\lambda} \right)^{2m-3} e_0 \right] \\
 &\quad + s^{m-1} \left(\frac{\lambda}{1-\lambda} \right)^{n+2m-3} e_0^* \\
 &\leq \left[s \left(\frac{\lambda}{1-\lambda} \right)^n e_0 + s^2 \left(\frac{\lambda}{1-\lambda} \right)^{n+2} e_0 + s^3 \left(\frac{\lambda}{1-\lambda} \right)^{n+4} e_0 + \dots + s^{m-1} \left(\frac{\lambda}{1-\lambda} \right)^{2m-4} e_0 \right] + \\
 &\quad + \left[s \left(\frac{\lambda}{1-\lambda} \right)^{n+1} e_0 + s^2 \left(\frac{\lambda}{1-\lambda} \right)^{n+3} e_0 + s^3 \left(\frac{\lambda}{1-\lambda} \right)^{n+5} e_0 + \dots + s^{m-1} \left(\frac{\lambda}{1-\lambda} \right)^{2m-3} e_0 \right] \\
 &\quad + s^{m-1} \left(\frac{\lambda}{1-\lambda} \right)^{n+2m-3} e_0^* \\
 &\leq s \left(\frac{\lambda}{1-\lambda} \right)^n e_0 \left[1 + s \left(\frac{\lambda}{1-\lambda} \right)^2 + s^2 \left(\frac{\lambda}{1-\lambda} \right)^4 + \dots + s^{m-2} \left(\frac{\lambda}{1-\lambda} \right)^{2m-n-4} \right] \\
 &\quad + s \left(\frac{\lambda}{1-\lambda} \right)^{n+1} e_0 \left[1 + s \left(\frac{\lambda}{1-\lambda} \right)^2 + s^2 \left(\frac{\lambda}{1-\lambda} \right)^4 + \dots + s^{m-2} \left(\frac{\lambda}{1-\lambda} \right)^{2m-n-4} \right] \\
 &\quad + s^{m-1} \left(\frac{\lambda}{1-\lambda} \right)^{n+2m-3} e_0^* \\
 &\leq s \left(\frac{\lambda}{1-\lambda} \right)^n e_0 \left[1 + s \left(\frac{\lambda}{1-\lambda} \right)^2 + s^2 \left(\frac{\lambda}{1-\lambda} \right)^4 + \dots \right] + s \left(\frac{\lambda}{1-\lambda} \right)^{n+1} e_0 \left[1 + s \left(\frac{\lambda}{1-\lambda} \right)^2 + s^2 \left(\frac{\lambda}{1-\lambda} \right)^4 + \dots \right] \\
 &\quad + s^{m-1} \left(\frac{\lambda}{1-\lambda} \right)^{n+2m-3} e_0^* \\
 &\leq \left[1 + s \left(\frac{\lambda}{1-\lambda} \right)^2 + s^2 \left(\frac{\lambda}{1-\lambda} \right)^4 + \dots \right] \left[s \left(\frac{\lambda}{1-\lambda} \right)^n e_0 + s \left(\frac{\lambda}{1-\lambda} \right)^{n+1} e_0 \right] + s^{m-1} \left(\frac{\lambda}{1-\lambda} \right)^{n+2m-2} e_0^* \\
 &= \frac{1}{1-s \left(\frac{\lambda}{1-\lambda} \right)^2} \left[s \left(\frac{\lambda}{1-\lambda} \right)^n e_0 + s \left(\frac{\lambda}{1-\lambda} \right)^{n+1} e_0 \right] + s^{m-1} \left(\frac{\lambda}{1-\lambda} \right)^{n+2m-3} e_0^* \\
 &= \frac{s \left(\frac{\lambda}{1-\lambda} \right)^n e_0 \left(1 + \left(\frac{\lambda}{1-\lambda} \right) \right)}{1-s \left(\frac{\lambda}{1-\lambda} \right)^2} + s^{m-1} \left(\frac{\lambda}{1-\lambda} \right)^{n+2m-3} e_0^*, \\
 d(z_n, z_{n+2m}) &\leq \frac{s \left(\frac{\lambda}{1-\lambda} \right)^n e_0 \left(1 + \left(\frac{\lambda}{1-\lambda} \right) \right)}{1-s \left(\frac{\lambda}{1-\lambda} \right)^2} + s^{m-1} \left(\frac{\lambda}{1-\lambda} \right)^{n+2m-3} e_0^*. \tag{3.10}
 \end{aligned}$$

It follows from (3.9) and (3.10) that



$$\lim_{n \rightarrow \infty} d(z_n, z_{n+p}) = 0 \text{ for all } p > 0. \quad (3.11)$$

Thus $\{z_n\}$ is a Cauchy sequence in X . By completeness of (X, d) there exists $u \in X$ such that

$$\lim_{n \rightarrow \infty} z_n = u. \quad (3.12)$$

We shall show that u is a fixed point of T . Again, for any $n \in \mathbb{N}$

we have

$$\begin{aligned} d(u, Tu) &\leq s[d(u, z_n) + d(z_n, z_{n+1}) + d(z_{n+1}, Tu)] \\ &= s[d(u, z_n) + d(z_n, z_{n+1}) + d(Tz_n, Tu)] \\ &\leq s[d(u, z_n) + d(z_n, z_{n+1}) + \lambda[d(z_n, Tz_n) + d(u, Tu)]] \\ &\leq sd(u, z_n) + sd(z_n, z_{n+1}) + s\lambda d(z_n, z_{n+1}) + s\lambda d(u, Tu) \\ &\leq s \lim_{n \rightarrow \infty} d(u, z_n) + s \lim_{n \rightarrow \infty} d(z_n, z_{n+1}) + s\lambda \lim_{n \rightarrow \infty} d(z_n, z_{n+1}) + s\lambda d(u, Tu) \\ &\leq s\lambda d(u, Tu), \text{ by (3.11) and (3.12)} \end{aligned}$$

Thus $0 \leq d(u, Tu) \leq s\lambda d(u, Tu)$; $s\lambda < 1$.

It follows from above inequality that $d(u, Tu) = 0$, i.e., $Tu = u$. Thus u is a fixed point of T . For uniqueness, let v be another fixed point of T . Then it follows that

$$0 \leq d(u, v) = d(Tu, Tv) \leq \lambda[d(u, Tu) + d(v, Tv)] = \lambda[d(u, u) + d(v, v)] = 0$$

a contradiction. Therefore, we must have $d(u, v) = 0$, i.e., $u = v$. Thus fixed point is unique.

Theorem 3. Let (X, d) be a complete complex valued rectangular b -metric space with coefficient $s > 1$ and $T : X \rightarrow X$ be a mapping satisfying:

$$d(Tx, Ty) \leq k \max \{d(x, y), d(x, Tx), d(y, Ty)\} \quad (3.13)$$

for all $x, y \in X$, where $k \in \left[0, \frac{2}{s+1}\right]$. Then T has a unique fixed point.

Proof Let $z_0 \in X$ and each $n \in \mathbb{N}$, we define $z_n = Tz_{n-1}$; for all $n \in \mathbb{N}$.

We consider,

$$\begin{aligned} d(z_1, z_2) &= d(Tz_0, Tz_1) \\ &\leq k \max \{d(z_0, z_1), d(z_0, Tz_0), d(z_1, Tz_1)\} \\ &\leq k \max \{d(z_0, z_1), d(z_0, z_1), d(z_1, z_2)\} \\ &= k \max \{d(z_0, z_1), d(z_1, z_2)\} \\ &\leq k[d(z_0, z_1) + d(z_1, z_2)], \\ d(z_1, z_2) &\leq kd(z_0, z_1) + kd(z_1, z_2). \quad (3.14) \end{aligned}$$

$$\Rightarrow d(z_1, z_2) \leq \left(\frac{k}{1-k}\right) d(z_0, z_1). \quad (3.15)$$



Thus, $d(z_1, z_2) \leq \left(\frac{k}{1-k}\right)e_0$, for some $k \in \left[0, \frac{2}{s+1}\right]$, where $e_0 = d(z_0, z_1)$.

$$\begin{aligned} d(z_2, z_3) &= d(Tz_1, Tz_2) \\ &\leq k \max \{d(z_1, z_2), d(z_1, Tz_1), d(z_2, Tz_2)\} \\ &\leq k \max \{d(z_1, z_2), d(z_1, z_2), d(z_2, z_3)\} \\ &= k \max \{d(z_1, z_2), d(z_2, z_3)\} \\ &\leq k [d(z_1, z_2) + d(z_2, z_3)], \\ d(z_2, z_3) &\leq kd(z_1, z_2) + kd(z_2, z_3). \quad (3.16) \end{aligned}$$

$$\Rightarrow d(z_2, z_3) \leq \left(\frac{k}{1-k}\right)d(z_1, z_2). \quad (3.17)$$

Thus, $d(z_2, z_3) \leq \left(\frac{k}{1-k}\right)e_1$, for some $k \in \left[0, \frac{2}{s+1}\right]$, where $e_1 = d(z_1, z_2)$.

Using (3.15) and (3.17) we have

$$\begin{aligned} d(z_2, z_3) &\leq \left(\frac{k}{1-k}\right)d(z_1, z_2), \\ &\leq \left(\frac{k}{1-k}\right)\left(\frac{k}{1-k}\right)d(z_0, z_1) \\ d(z_2, z_3) &= \left(\frac{k}{1-k}\right)^2 e_0, \text{ for some } k \in \left[0, \frac{2}{s+1}\right] \quad (3.18) \end{aligned}$$

In general, we obtain that

$$d(z_n, z_{n+1}) \leq \left(\frac{k}{1-k}\right)^n d(z_0, z_1) \text{ for some } k \in \left[0, \frac{2}{s+1}\right] \text{ where } e_0 = d(z_0, z_1). \quad (3.19)$$

Let $e_n = d(z_n, z_{n+1})$, $\forall n \in \mathbb{N}$

$$\begin{aligned} d(z_n, z_{n+2}) &= d(Tz_{n-1}, Tz_{n+1}) \\ &\leq k \max \{d(z_{n-1}, z_{n+1}), d(z_{n-1}, Tz_{n-1}), d(z_{n+1}, Tz_{n+1})\} \\ &\leq k \max \{d(z_{n-1}, z_{n+1}), d(z_{n-1}, z_n), d(z_{n+1}, z_{n+2})\} \\ &\leq k \max \{s[d(z_{n-1}, z_n) + d(z_n, z_{n+2}) + d(z_{n+2}, z_{n+1})], d(z_{n-1}, z_n), d(z_{n+1}, z_{n+2})\} \\ &\leq k \max \{sd(z_{n-1}, z_n) + sd(z_n, z_{n+2}) + sd(z_{n+2}, z_{n+1}), d(z_{n-1}, z_n), d(z_{n+1}, z_{n+2})\} \\ &= k [sd(z_{n-1}, z_n) + sd(z_n, z_{n+2}) + sd(z_{n+2}, z_{n+1})], \\ d(z_n, z_{n+2}) &\leq ksd(z_{n-1}, z_n) + ksd(z_n, z_{n+2}) + ksd(z_{n+2}, z_{n+1}). \quad (3.20) \\ \Rightarrow & d(z_n, z_{n+2}) \leq ksd(z_{n-1}, z_n) + ksd(z_n, z_{n+2}) + ksd(z_{n+2}, z_{n+1}) \\ \Rightarrow & d(z_n, z_{n+2}) - ksd(z_n, z_{n+2}) \leq ksd(z_{n-1}, z_n) + ksd(z_n, z_{n+2}) \\ \Rightarrow & [1-ks]d(z_n, z_{n+2}) \leq ks[d(z_{n-1}, z_n) + d(z_n, z_{n+2})] \end{aligned}$$



$$\begin{aligned} \Rightarrow d(z_n, z_{n+2}) &\leq \left(\frac{ks}{1-ks}\right) [d(z_{n-1}, z_n) + d(z_n, z_{n+2})] \\ \Rightarrow d(z_n, z_{n+2}) &\leq \left(\frac{ks}{1-ks}\right) \left[\left(\frac{k}{1-k}\right)^{n-1} e_0 + \left(\frac{k}{1-k}\right)^n e_0 \right] \\ \Rightarrow d(z_n, z_{n+2}) &\leq \left(\frac{k}{1-k}\right)^{n-1} \left[\left(\frac{ks}{1-ks}\right) e_0 + \left(\frac{ks}{1-ks}\right) \left(\frac{k}{1-k}\right) e_0 \right] \\ \Rightarrow d(z_n, z_{n+2}) &\leq \left(\frac{k}{1-k}\right)^{n-1} e^*_0, \text{ where } e^*_0 = \left[\left(\frac{ks}{1-ks}\right) e_0 + \left(\frac{ks}{1-ks}\right) \left(\frac{k}{1-k}\right)^2 e_0 \right] \\ &\text{for some } k \in \left[0, \frac{2}{s+1} \right] \quad (3.21) \end{aligned}$$

$$\begin{aligned} d(z_n, z_{n+2m+1}) &\leq s [d(z_n, z_{n+1}) + d(z_{n+1}, z_{n+2}) + d(z_{n+2}, z_{n+2m+1})] \\ &\leq s [d(z_n, z_{n+1}) + d(z_{n+1}, z_{n+2}) \\ &\quad + s [d(z_{n+2}, z_{n+3}) + d(z_{n+3}, z_{n+4}) + d(z_{n+4}, z_{n+2m+1})]] \\ &\leq s [(e_n + e_{n+1}) + s [(e_{n+2} + e_{n+3}) + s [(e_{n+4} + e_{n+5}) + \dots \\ &\quad + s [(e_{n+2m-2} + e_{n+2m-1} + e_{n+2m}) \\ &\leq s e_n + s e_{n+1} + s^2 e_{n+2} + s^2 e_{n+3} + s^3 e_{n+4} + s^3 e_{n+5} + \dots \\ &\quad + s^m e_{n+2m-2} + s^m e_{n+2m-1} + s^m e_{n+2m} \\ &\leq s \left[\left(\frac{k}{1-k}\right)^n e_0 + \left(\frac{k}{1-k}\right)^{n+1} e_0 \right] + s^2 \left[\left(\frac{k}{1-k}\right)^{n+2} e_0 + \left(\frac{k}{1-k}\right)^{n+3} e_0 \right] \\ &\quad + s^3 \left[\left(\frac{k}{1-k}\right)^{n+4} e_0 + \left(\frac{k}{1-k}\right)^{n+5} e_0 \right] + \dots \\ &\quad + s^m \left[\left(\frac{k}{1-k}\right)^{n+2m-2} e_0 + \left(\frac{k}{1-k}\right)^{n+2m-1} e_0 + \left(\frac{k}{1-k}\right)^{n+2m} e_0 \right] \\ &\leq \left[s \left(\frac{k}{1-k}\right)^n e_0 + s^2 \left(\frac{k}{1-k}\right)^{n+2} e_0 + s^3 \left(\frac{k}{1-k}\right)^{n+4} e_0 + \dots \right. \\ &\quad \left. + s^m \left(\frac{k}{1-k}\right)^{n+2m-2} e_0 + s^m \left(\frac{k}{1-k}\right)^{n+2m} e_0 \right] \\ &\quad + \left[s \left(\frac{k}{1-k}\right)^{n+1} e_0 + s^2 \left(\frac{k}{1-k}\right)^{n+3} e_0 + s^3 \left(\frac{k}{1-k}\right)^{n+5} e_0 + \dots + s^m \left(\frac{k}{1-k}\right)^{n+2m-1} e_0 \right] \\ &\leq s \left(\frac{k}{1-k}\right)^n e_0 \left[1 + s \left(\frac{k}{1-k}\right)^2 + s^2 \left(\frac{k}{1-k}\right)^4 + \dots + s^{m-1} \left(\frac{k}{1-k}\right)^{2m-2} + s^{m-1} \left(\frac{k}{1-k}\right)^{2m} \right] \\ &\quad + s \left(\frac{k}{1-k}\right)^{n+1} e_0 \left[1 + s \left(\frac{k}{1-k}\right)^2 + s^2 \left(\frac{k}{1-k}\right)^4 + \dots + s^{m-1} \left(\frac{k}{1-k}\right)^{2m-2} \right] \end{aligned}$$



$$\begin{aligned}
 &\leq s \left(\frac{k}{1-k} \right)^n e_0 \left[1 + s \left(\frac{k}{1-k} \right)^2 + s^2 \left(\frac{k}{1-k} \right)^4 + \dots \right] + s \left(\frac{k}{1-k} \right)^{n+1} e_0 \left[1 + s \left(\frac{k}{1-k} \right)^2 + s^2 \left(\frac{k}{1-k} \right)^4 + \dots \right] \\
 &\leq \left[1 + s \left(\frac{k}{1-k} \right)^2 + s^2 \left(\frac{k}{1-k} \right)^4 + \dots \right] \left[s \left(\frac{k}{1-k} \right)^n e_0 + s \left(\frac{k}{1-k} \right)^{n+1} e_0 \right] \\
 &= \frac{1}{1 - s \left(\frac{k}{1-k} \right)^2} \left[s \left(\frac{k}{1-k} \right)^n e_0 + s \left(\frac{k}{1-k} \right)^{n+1} e_0 \right] \\
 &= \frac{s \left(\frac{k}{1-k} \right)^n e_0 \left(1 + \left(\frac{k}{1-k} \right) \right)}{1 - s \left(\frac{k}{1-k} \right)^2}, \\
 d(z_n, z_{n+2m+1}) &\leq \frac{s \left(\frac{k}{1-k} \right)^n e_0 \left(1 + \left(\frac{k}{1-k} \right) \right)}{1 - s \left(\frac{k}{1-k} \right)^2}. \tag{3.22}
 \end{aligned}$$

$$\begin{aligned}
 d(z_n, z_{n+2m}) &\leq s \left[d(z_n, z_{n+1}) + d(z_{n+1}, z_{n+2}) + d(z_{n+2}, z_{n+2m}) \right] \\
 &\leq s \left[d(z_n, z_{n+1}) + d(z_{n+1}, z_{n+2}) \right. \\
 &\quad \left. + s \left[d(z_{n+2}, z_{n+3}) + d(z_{n+3}, z_{n+4}) + d(z_{n+4}, z_{n+2m}) \right] \right] \\
 &\leq s \left[(e_n + e_{n+1}) + s \left[(e_{n+2} + e_{n+3}) + s \left[(e_{n+4} + e_{n+5}) + \dots \right. \right. \right. \\
 &\quad \left. \left. + s^{m-1} \left[(e_{2m-4} + e_{2m-3}) + s^{m-1} d(z_{n+2m-2}, z_{n+2m}) \right] \right] \right] \\
 &\leq s e_n + s e_{n+1} + s^2 e_{n+2} + s^2 e_{n+3} + s^3 e_{n+4} + s^3 e_{n+5} + \dots \\
 &\quad + s^{m-1} e_{2m-4} + s^{m-1} e_{2m-3} + s^{m-1} d(z_{n+2m-2}, z_{n+2m}) \\
 &\leq s \left[\left(\frac{k}{1-k} \right)^n e_0 + \left(\frac{k}{1-k} \right)^{n+1} e_0 \right] + s^2 \left[\left(\frac{k}{1-k} \right)^{n+2} e_0 + \left(\frac{k}{1-k} \right)^{n+3} e_0 \right] \\
 &\quad + s^3 \left[\left(\frac{k}{1-k} \right)^{n+4} e_0 + \left(\frac{k}{1-k} \right)^{n+5} e_0 \right] + \dots + s^{m-1} \left[\left(\frac{k}{1-k} \right)^{2m-4} e_0 + \left(\frac{k}{1-k} \right)^{2m-3} e_0 \right] \\
 &\quad + s^{m-1} \left(\frac{k}{1-k} \right)^{n+2m-3} e_0^*
 \end{aligned}$$



$$\begin{aligned}
 & \leq \left[s \left(\frac{k}{1-k} \right)^n e_0 + s^2 \left(\frac{k}{1-k} \right)^{n+2} e_0 + s^3 \left(\frac{k}{1-k} \right)^{n+4} e_0 + \dots + s^{m-1} \left(\frac{k}{1-k} \right)^{2m-4} e_0 \right] + \\
 & \quad + \left[s \left(\frac{k}{1-k} \right)^{n+1} e_0 + s^2 \left(\frac{k}{1-k} \right)^{n+3} e_0 + s^3 \left(\frac{k}{1-k} \right)^{n+5} e_0 + \dots + s^{m-1} \left(\frac{k}{1-k} \right)^{2m-3} e_0 \right] \\
 & \quad + s^{m-1} \left(\frac{k}{1-k} \right)^{n+2m-3} e_0^* \\
 & \leq s \left(\frac{k}{1-k} \right)^n e_0 \left[1 + s \left(\frac{k}{1-k} \right)^2 + s^2 \left(\frac{k}{1-k} \right)^4 + \dots + s^{m-2} \left(\frac{k}{1-k} \right)^{2m-n-4} \right] \\
 & \quad + s \left(\frac{k}{1-k} \right)^{n+1} e_0 \left[1 + s \left(\frac{k}{1-k} \right)^2 + s^2 \left(\frac{k}{1-k} \right)^4 + \dots + s^{m-2} \left(\frac{k}{1-k} \right)^{2m-n-4} \right] \\
 & \quad + s^{m-1} \left(\frac{k}{1-k} \right)^{n+2m-3} e_0^* \\
 & \leq s \left(\frac{k}{1-k} \right)^n e_0 \left[1 + s \left(\frac{k}{1-k} \right)^2 + s^2 \left(\frac{k}{1-k} \right)^4 + \dots \right] + s \left(\frac{k}{1-k} \right)^{n+1} e_0 \left[1 + s \left(\frac{k}{1-k} \right)^2 + s^2 \left(\frac{k}{1-k} \right)^4 + \dots \right] \\
 & \quad + s^{m-1} \left(\frac{k}{1-k} \right)^{n+2m-3} e_0^* \\
 & \leq \left[1 + s \left(\frac{k}{1-k} \right)^2 + s^2 \left(\frac{k}{1-k} \right)^4 + \dots \right] \left[s \left(\frac{k}{1-k} \right)^n e_0 + s \left(\frac{k}{1-k} \right)^{n+1} e_0 \right] + s^{m-1} \left(\frac{k}{1-k} \right)^{n+2m-3} e_0^* \\
 & = \frac{1}{1 - s \left(\frac{k}{1-k} \right)^2} \left[s \left(\frac{k}{1-k} \right)^n e_0 + s \left(\frac{k}{1-k} \right)^{n+1} e_0 \right] + s^{m-1} \left(\frac{k}{1-k} \right)^{n+2m-3} e_0^* \\
 & = \frac{s \left(\frac{k}{1-k} \right)^n e_0 \left(1 + \left(\frac{k}{1-k} \right) \right)}{1 - s \left(\frac{k}{1-k} \right)^2} + s^{m-1} \left(\frac{k}{1-k} \right)^{n+2m-3} e_0^*, \\
 d(z_n, z_{n+2m}) & \leq \frac{s \left(\frac{k}{1-k} \right)^n e_0 \left(1 + \left(\frac{k}{1-k} \right) \right)}{1 - s \left(\frac{k}{1-k} \right)^2} + s^{m-1} \left(\frac{k}{1-k} \right)^{n+2m-3} e_0^*. \tag{3.23}
 \end{aligned}$$

It follows from (3.22) and (3.23) that

$$\lim_{n \rightarrow \infty} d(z_n, z_{n+p}) = 0 \text{ for all } p > 0. \tag{3.24}$$

Thus $\{z_n\}$ is a Cauchy sequence in X . By completeness of (X, d) there exists $u \in X$ such that

$$\lim_{n \rightarrow \infty} z_n = u. \tag{3.25}$$

We shall show that u is a fixed point of T . Again, for any $n \in \mathbb{N}$ we have



$$\begin{aligned}
 d(u, Tu) &\leq s[d(u, z_n) + d(z_n, z_{n+1}) + d(z_{n+1}, Tu)] \\
 &= s[d(u, z_n) + d(z_n, z_{n+1}) + d(Tz_n, Tu)] \\
 &\leq s[d(u, z_n) + d(z_n, z_{n+1}) + k \max\{d(z_n, u), d(z_n, Tz_n), d(u, Tu)\}] \\
 &\leq s[d(u, z_n) + d(z_n, z_{n+1}) + k \max\{d(z_n, u), d(z_n, z_{n+1}), d(u, Tu)\}] \\
 &\leq s[d(u, z_n) + d(z_n, z_{n+1}) + k\{d(z_n, u) + d(z_n, z_{n+1}) + d(u, Tu)\}] \\
 &\leq sd(u, z_n) + sd(z_n, z_{n+1}) + skd(z_n, u) + skd(z_n, z_{n+1}) + skd(u, Tu) \\
 &\leq [sd(u, z_n) + skd(z_n, u)] + [sd(z_n, z_{n+1}) + skd(z_n, z_{n+1})] + skd(u, Tu) \\
 &\leq [1+k]sd(z_n, u) + [1+k]sd(z_n, z_{n+1}) + skd(u, Tu) \\
 &\leq [1+k]s \lim_{n \rightarrow \infty} d(z_n, u) + [1+k]s \lim_{n \rightarrow \infty} d(z_n, z_{n+1}) + skd(u, Tu)
 \end{aligned}$$

$$d(u, Tu) \leq skd(u, Tu). \text{ by (3.24) and (3.25)}$$

Thus $0 \leq d(u, Tu) \leq skd(u, Tu)$; $sk < 1$.

It follows from above inequality that $d(u, Tu) = 0$, i.e., $Tu = u$. Thus u is a fixed point of T . For uniqueness, let v be another fixed point of T . Then it follows that

$$d(u, v) = d(Tu, Tv) \leq k \max\{d(u, v), d(u, Tu), d(v, Tv)\} \leq kd(u, v).$$

Thus a contradiction. Therefore, we must have $d(u, v) = 0$, i.e., $u = v$. Thus fixed point is unique.

4. Conclusions

The purpose of this paper is to study the existence of fixed point for self mappings under generalized kannan mappings type concept in b-metric spaces. Our result extend and generalize the result derived by Ege [21] and many others. Moreover, we give examples as a satisfying the theorems in complex valued rectangular b-metric spaces as follows:

Theorem 1. Let (X, d) be a complete complex valued rectangular b -metric space with coefficient $s > 1$ and $T : X \rightarrow X$ be a mapping satisfying:

$$d(Tx, Ty) \leq \lambda [d(x, Tx) + d(y, Ty)]$$

for all $x, y \in X$, where $\lambda \in \left[0, \frac{2}{s+1}\right]$. Then T has a unique fixed point.

Theorem 2. Let (X, d) be a complete complex valued rectangular b -metric space with coefficient $s > 1$ and $T : X \rightarrow X$ be a mapping satisfying:

$$d(Tx, Ty) \leq k \max\{d(x, y), d(x, Tx), d(y, Ty)\}$$

for all $x, y \in X$, where $k \in \left[0, \frac{2}{s+1}\right]$. Then T has a unique fixed point.

5. Discussion

Future research directions may also be possible.

Open problems 1:

If T satisfies $(d(Tx, Ty) \leq \lambda [d(x, y) + d(x, Tx) + d(y, Ty) + d(x, Ty) + d(y, Tx)])$ then T has a unique fixed point.



Open problems 2:

If T satisfies $(d(Tx, Ty) \leq k \max\{d(x, y), d(x, Tx), d(y, Ty), d(x, Ty), d(y, Tx)\})$ then T has a unique fixed point.

Acknowledgments

The authors would like to thank the Research and Development Institute of Kamphaeng Phet Rajabhat University, which provides funding for research.

References

- [1] Frechet, M. (1906). Rendiconti del Circolo Matematico di Palermo. *Sur quelques points du calcul fonctionnel*, 22, 1–72.
- [2] Branciari, A. (2000). A fixed point theorem of Banach-Caccippoli type on a class of generalized metric spaces. *Publ. Math*, 57, 31–37.
- [3] Arshad, M., Ahmad J., & Karapinar, E. (2013). Some common fixed point results in rectangular metric spaces. *Int. J. Anal*, 7, 1.
- [4] Azam, A., Arshad, M., & Beg, I. (2008). Banach contraction principle on cone rectangular metric spaces. *Appl. Anal. Discrete Math*, 1, 45–48.
- [5] Azam, A., Arshad, M., & Beg, I. (2009). Banach contraction principle on cone rectangular metric spaces. *Appl. Anal. Discrete Math*, 3, 236–241.
- [6] Ding, H., Ozturk, V., & Radenovic, S. (2015). On some new fixed point results in b-rectangular metric spaces. *J. Nonlinear Sci. Appl*, 8, 378–386.
- [7] Erhan, M., Karapinar, E., & Sekulic, T. (2012). Fixed points of $\psi - \phi$ -contractions on generalized metric spaces. *Fixed Point Theory Appl*, 12, 1.
- [8] George, R., & Rajagopalan, R. (2013). Common fixed point results for $\psi - \phi$ -contractions in rectangular metric spaces. *Bull. Math. Anal. Appl*, 5, 44–52.
- [9] George, R., Radenovic, S., Reshma, K. P., & Shukla, S. (2015). Rectangular b-metric spaces and contraction principle. *J. Nonlinear Sci. Appl*, 8, 1005–1013.
- [10] Lakzian, H., & Samet, B. (2012). Fixed points for $\psi - \phi$ -weakly contractive mapping in generalized metric spaces. *Appl. Math. Lett*, 25, 902–906.
- [11] Shukla, S. (2014). Partial rectangular metric spaces and fixed point theorems. *Sci. World J.*, 7, 1.
- [12] Azam, A., Fisher, B., & Khan, M. (2011). Common fixed point theorems in complex valued metric spaces. *Number. Funct. Anal. Optim*, 32, 243–253.
- [13] Bakhtin, I.A. (1989). The contraction mapping principle in quasimetric spaces. *Funct. Anal., Unianowsk Gos. Ped. Inst*, 30, 2637.
- [14] Strict, M. (2009). Fixed point theorems for multivalued operators in b-metric spaces. *International J. Modern Math*, 4, 285–301.
- [15] Boriceanu, M., Bota, M., & Petrusel, A. (2010). Multivalued fractals in b-metric spaces. *Cen.*



- Eur. J. Math*, 8, 367-377.
- [16] Bota, M., Molnar, A., & Csaba, V. (2011). On Ekeland's variational principle in b-metric spaces. *Fixed Point Theory*, 12, 21-28.
- [17] Czerwik, S. (1993). Contraction mappings in b-metric spaces. *Acta. Math. Inform. Univ. Ostraviensis*, 1, 5-11.
- [18] Czerwik, S. (1998). Nonlinear set-valued contraction mappings in b-metric spaces. *Atti Sem. Mat. Univ. Modena*, 46, 263-276.
- [19] Czerwik, S., Dlutek, K., & Singh, S.L. (1997). Round-off stability of iteration procedures for operators in b-metric spaces. *J. Natur. Phys. Sci*, 11, 87-94.
- [20] Czerwik, S., Dlutek, K., & Singh, S.L. (2001). Round-off stability of iteration procedures for set valued operators in b-metric spaces. *J. Natur. Phys. Sci*, 15, 1-8.
- [21] Ege, O. (2015). Complex valued rectangular b-metric spaces and an application to linear equations. *J. Nonlinear Sci. Appl*, 8, 1014–1021.
- [22] George, R., Radenovic, S., & Reshma, K.P. (2015). Rectangular b-Metric spaces and Contraction Principle. *J. Nonlinear Sci. App*, 8, 1005-1013.